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Question Number : 971 Question Id : 21280732501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

How many percent of the eligible voters of the first general election held from October 1951 to
February 1952, were literate ?

(1) 100%
(2) 15%
(3) 25%
(4) 50%
Options :

212807130001. 1
212807130002. 2
212807130003. 3
212807130004. 4

Question Number : 971 Question Id : 21280732501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) 100%
(2) 15%
(3) 25%
(4) 50%

Options :

212807130001. 1
212807130002. 2
212807130003. 3
212807130004. 4

Question Number : 972 Question Id : 21280732502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who among the following was the Minister for Health in independent India’s first ministry ?
(1) Sarojini Naidu
(2) Vijaylaxmi Pandit
(3) Rajkumari Amrit Kaur
(4) Aruna Asaf Ali
Options :
212807130005. 1
212807130006. 2

212807130007. 3
212807130008. 4

Question Number : 972 Question Id : 21280732502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Frefafigd § @ 99 wd3 9rd =) yyg giyufive § e 550 gy ?
(1) wfeE ey

(2) Taom audt dfga

(3) wsgEwrd smy wR

(4) ST SHE el

Options :

212807130005. 1
212807130006. 2
212807130007. 3
212807130008. 4

Question Number : 973 Question Id : 21280732503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Which of the fellowing statement correct with reference to independent India:
(A) All the princely states agreed to jein the Indian Union willingly
{(B) The internal boundaries of the country needed to be diawn afresh

(C) The famous speech ‘tryst with destiny’ was given by Sardar Vallabhbhai Patel, the Deputy
Prime Minister of India

(D) Freedom came with partition, which resulted in large scale violence and displacement
Choose the correct answer from the options given below :

(1) (C) And (D) Only

(2) (D) And (A) Only

(3) (B) And (D) Only
(4) (B), (D) And (A) Only
Options :

212807130009. 1
212807130010. 2
212807130011. 3
212807130012. 4

Question Number : 973 Question Id : 21280732503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fretfefigd § § P8 Hud tady wrd ¥ ded § e ¥?

(A) st ¥l Forrad ez wu @ wred du d wftafem & o ud ¢

(B) a9 o iafesn draredl A A & dign sevas ot

(C) W % -9 ) TER geay WK yeat 7 wfag wm ffoee fag SRl e en
(D) Taurs 3 wer wereren Toef), Forads wRomgerey o8 e w féar oi freema gon
o feu 1 fogpedi H 9 W& I 1 999 SR

(1) () 3 (D)

(2) e (D) 3 (A)

(3) % (B) S (D)

(4) A (B), (D) (A

Options :

212807130009. 1

212807130010. 2

212807130011. 3
212807130012. 4

Question Number : 974 Question Id : 21280732504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Match List - I with List - IL

List - I List - 11
(A) Two-nation theory {I)  Frontier Gandhi
(B) Tryst with destiny () Editor Nagmani magazine
(C) Abdul Gaffar Khan (II) Muslim league
(D) Amrita Pritam {IV) Jawaharlal Nehru

Choose the correct answer from the options given below :
1) A1, B)-(0), (O-ID), (D)-(1V)

2)  (AXD), (BRI), (OAIV), (D))

(3)  (AHIID), B)-(IV), (O-0), (D))

(4) (AHIV), (B)-(ID), (O, (D))

S

212807130014. 2

212807130015. 3
212807130016. 4

Question Number : 974 Question Id : 21280732504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Telt-1 & FE-11 =1 foer ifag
113"]‘.1 -I1

(a) feueg fogra () gl wish

(B) ‘‘few g Sfe” (M) dorgss, Arrafor afem
(C) ST oA EH (mn) yfeers

(D)  rgen ey (IV) ST offet 8%

A9 fou o fawedi § § W8 I F g9 Hifen
(1) (A1), (B)-(D), (O~(1D), (D)(IV)
(2)  (A)AD, (B)-(I), (O)«(1V), (D)-(1I)
(3) (A)-UD, (B)-(IV), (O-(D), (D)}-(I)
(4)  (A)-(1V), (B)(ILD), (O)-(1D), (D)~(I)

Options :

212807130013. 1
212807130014. 2
212807130015. 3
212807130016. 4

Question Number : 975 Question Id : 21280732505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Match List - T with List - IL

List -1 List - IT
{A) P.C. Mahalanobis (I)  Author of “Economy of performance’
(B) K.N. Raj () Milkman of India
{(C) J.C. Kumarappa (IIIy Architect of the First Five Year Plan
(D) Verghese Kurien (IV) Founder of Indian Statistical Institute

Choose the correct answer from the options given below :
(1) (A1), (B)-(ID), (C)-(D), (D)-(I)

(2) (A1), (B)-(ID, (O, (D)}-(I)

(3)  (A)-(I), (B)-(I1), ([©O-{D), (DHIV)

(4) (A, B)-D, (O-(ID, (D(1V)
2250713015 2

212807130019. 3
212807130020. 4

Question Number : 975 Question Id : 21280732505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Telt-1 & FE-11 =1 foer ifag

-1 Tedl-11
(A) . . mererfag O g offe wwRdE ! % dEs

(B) & AT () Taewta oifw $fem
(© 9. €. paon (IID) wersy ety s & Fofen
(D) oits $fa (IV) s wiflersT g & s

A4 feu e fawedi § 4 |8 I8 @ 93971 Fifaw .
(1) (A)IV), (B)«(ID), (C)-(D), (D)-(1IT)
(2)  (A)IV), (B)-(ID, {O)-(D), (D)}-(I)
(3) (A, (B)-(I), (O)-(D), (D)~(IV)
(4) (A)-(ID, (B)~(1), (O)(ID, (D)-(IV)

Options :

212807130017. 1
212807130018. 2
212807130019. 3
212807130020. 4

Question Number : 976 Question Id : 21280732506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Identify the incorrect statement with reference to planning commission :
(A) The President is the Chairperson of the Planning Commission

(B) The Planning commission was set up in March 1950

(C) The concept of five year plan was adopted from USA

{D) A section of big industrialist get together in 1944 and drafted a joint proposal called ‘Bombay
Plan’

(E) The draft of the first five year plan was released in December 1951
Choose the correct answer from the options given below :

(1) (A) And (C) Only

(2)  (C) And (B) Only

(3) (D) And (A) Only

(4) (E) And (B) Only

Options :

212807130021. 1
212807130022. 2
212807130023. 3
212807130024. 4

Question Number : 976 Question Id : 21280732506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Frrerfatiad § & Frs SR & Hew | T HUAl 6] g it
(A)  Tszufer drer i 3 steay €

(B)  rern S0 3hl RIUAT 1950 ¥ i 715 o

(C) drerdTe e sl STEURUT Al HYad T AT § S T o
(D) =& sarrafo = w1944 § warfia gon of oud ' Sied @' 9 U W T fea e
(B) wery dradty it 1 urey fedse 1951 § sl fhay v o

i fe o Tamedi § 4 W@ T w1 gy Hifa

(1) %9 (A) Q)

(2) e (C) 3R (B)

(3) e (D) 3K (A)

(4) %9 (E) 3R (B)

Options :

212807130021. 1
212807130022. 2
212807130023. 3
212807130024. 4

Question Number : 977 Question Id : 21280732507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value
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|C0mprehensi0n

IMCQ

Tashkent is currently the capital of :

(1) Kazakstan
(2) Uzbekistan
(3) Turkmenistan
(4) Tajikstan
Options :
212807130025. 1
212807130026. 2

212807130027. 3
212807130028. 4

Question Number : 977 Question Id : 21280732507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
e S H FRwe a7
(1)  STHREAA
(2) IsrEfHEEE
(3) gFafrE
(4y enfsiferedr
Options :

212807130025. 1
212807130026. 2
212807130027. 3
212807130028. 4

Question Number : 978 Question Id : 21280732508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Directive Principles of State Policy is stated by article :

(1 15
(2) 51
(3) 53
(4) 55
Options :

212807130029. 1
212807130030. 2
212807130031. 3
212807130032. 4

Question Number : 978 Question Id : 21280732508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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T & Hifa Frwes fagia frg sigede & dafyq §7

(1) 15
(2) 51
(3) 53
(4) 55

Options :

212807130029. 1
212807130030. 2
212807130031. 3
212807130032. 4

Question Number : 979 Question Id : 21280732509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who among the following resigned from the union Cabinet in 1956 taking the responsibility for
the railway accident.
(1) Jagjivan Ram
(2) Lal Bahadur Shastri
(3) Indira Gandhi
(4) Ram Manchar Lohia
Options :
212807130033, 1
212807130034. 2

212807130035. 3
212807130036. 4

Question Number : 979 Question Id : 21280732509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Frerfafad § € fra® o gde 1 Savaife i 3 B 1956 H i whisa & e s € T en?
(1) srrsfres am

(2) @ aeiEL e

(3) sfeu i

(&) 9 Hde Afga

Options :

212807130033. 1
212807130034. 2
212807130035. 3
212807130036. 4

Question Number : 980 Question Id : 21280732510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ | .
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Who among the following supported a ‘Party of Socialism’ as an attempt of merging all political
parties.

(1) Sardar Patel
(2) Deendayal Upadhyaya
(3) Ram Manohar Lohia
(4) Jaya Prakash Narayan
Options :
212807130037. 1
212807130038. 2

212807130039. 3
212807130040. 4

Question Number : 980 Question Id : 21280732510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

frefafaa & 4 fraa uft woritfas gt <5 fae & uard & &y gursrere 6w (uiel st wifefesy)
1 e fopar o ?

(1) EER 4w

(2) EFedrE SurEATy
(3) M e drfen
(4) ST YIS TRER

Options :

212807130037. 1
212807130038. 2
212807130039. 3
212807130040. 4

Question Number : 981 Question Id : 21280732511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Given below are two statements :

Statement (I) : The Bangladesh crisis had put a heavy strain on India’s economy. In the
international market, oil prices increased manifeld during this period. There was
an all round increase in prices of commodities

Statement (II) : Industrial growth was high and unemployment low. There was a sharp increase
in agricultural productivity and an atmosphere of satisfaction with prevailing
economic conditions in 1970s

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement (I) and Statement (II) are correct
(2) Both Statement (I) and Statement (II) are incorrect
(3) Statement (I) is correct but Statement (II) is incorrect

(4) Statement (I) is incorrect but Statement (II) is correct Q colle ge dunias



Options :

212807130041. 1
212807130042. 2
212807130043. 3
212807130044. 4

Question Number : 981 Question Id : 21280732511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

EIE R DR AT

HAT (1) :  HERY Hepe 7 WRdTg sieferaren o it €iet gren o1 39 stafy & S fqdedla srem d G
AT P A of 1 el S Frwdl | agueh gfg gg ot

HIA (1) : itehfier gl o= off of S¥ermd) et Wi ot ot 11970 % <ork § ol sourgerar & o gfg
& AR vafe snfdfe fefedt & ufy dgfe o amdraon @

T HYUT F ehE A, Y fRu e fowedi H @ T 39w wifv

(1) w1 R FHI 11 3 wex ¥

(2) HA1 3 FIA 11 S ey &

(3) HATI T T, AR wAT 11 1w |

(4) HITI U T, AT FT I B

Options :

212807130041. 1
212807130042. 2
212807130043. 3
212807130044. 4

Question Number : 982 Question Id : 21280732512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who among the following gave a call in 1974 for Total Revolution in the social, economic and
political spheres in order to establish true democracy ?

(1) Charu Majumdar

(2) George Fernandes

(3) Jay Prakash Narayan

{4) Moraraji Desai

Options :

212807130045. 1

212807130046. 2

212807130047. 3
212807130048. 4

Question Number : 982 Question Id : 21280732512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : QCOI Ieged un i ds
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Key Value
Comprehension MCQ

Frerfafe 9 @ faegd 1974 9 w1 wrerds o1 o 3 o g, sufbfes of warif S & wegof sif
T e forar o ?

(1) & HsHER
(2) Sifsl wHiTEw
(3) SIY YR AW
(4) s 3w
Options :
212807130045. 1
212807130046. 2

212807130047. 3
212807130048. 4

Question Number : 983 Question Id : 21280732513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The Akali Dal formed in 1920 as the political wing of the sikhs led the movement for the formation
of which of the following ?
(1) Akali Suba
(2) Sikh Suba
(3) Punjabi Suba
(4) Shiromani Suba
Options :
212807130049. 1
212807130050. 2

212807130051. 3
212807130052. 4

Question Number : 983 Question Id : 21280732513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Todl =t wertfass s & v 1920 § 59 mu s1eeren <ot 7 fAeafefiag 9 4 fegss fabm & foe aaidem
ey mnf wereq T 2

(1) el ga

(2) Towga
(3) el
(4) Todmfin gan
Options :

212807130049. 1
212807130050. 2
212807130051. 3
212807130052. 4
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Question Number : 984 Question Id : 21280732514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following region serves as India’s gateway to south East Asia and shares boundaries
with China, Myanmar and Bangladesh ?

(1) North India
(2) North East India
(3) South West India
(4) South India

Options :

212807130053. 1
212807130054. 2
212807130055. 3
212807130056. 4

Question Number : 984 Question Id : 21280732514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Frerfafiad 4 @ - &5 wwa & fore gl g uften & R F w9 = o @ oiv =, @ier
wtvertder 3 vy drand e e &2

(1) W 9Rd

(2) ITYH WA

(3) al-ufyam e

(4) ufeor wra

Options :

212807130053. 1
212807130054. 2
212807130055. 3
212807130056. 4

Question Number : 985 Question Id : 21280732515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In his poem ‘Pilgrims of darkness’ the Marathi poet Namdec Dhasal is referring to :
(1) Medha Patekar
(2) Chaudhary Charan Singh
(3) Mahendra Singh Tikait
(4) Dr. B.R. Ambedkar
Options :
212807130057. 1
212807130058. 2

212807130059. 3
212807130060. 4
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Question Number : 985 Question Id : 21280732515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
stof e ' fraforg sife sebaw’’ § wudt sy Tt e feae wefia @ ¥
(1) HE WREEH

(20 < e fag
(3) weg e feda
(4) €l S SR ST

Options :

212807130057. 1
212807130058. 2
212807130059. 3
212807130060. 4

Question Number : 986 Question Id : 21280732516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL

List - 1 List - IT
(A) Anti Arrack Movement () Uttar Pradesh
(B) National Fish Worker Forum () Gujrat
(C) Bhartiya Kisan Union (Il) Andhra Pradesh
(D) Sardar Sarovar Project (IV) Kerala

Choose the correct answer from the options given below :
1 (&)X, B-IO), (O-(1), (DHIV)

(2) (A, (B)-(IV), (O-(0), (DI

(3) (A1), (B)-(IID, (O-(1D), (D)-()

4)  (A)-dD), B-O), (O-1V), (D)D)

S—

212807130062. 2

212807130063 3
212807130064. 4

Question Number : 986 Question Id : 21280732516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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o1 8 -1 1 foee $ifs

TqEi-1 Tell-11
(A) ard-Tadel saiEier (H I YL
(B) e Tipw wdhd Wi (Ui v sHard de) () TR
(© Wty forar gfre () 37y waw
(D)  HIG HYL g (IV) $
i fou v faepedi H 9 W& I 1 Ty S
(1) (A0, (B}-(IT), (OAIID, (D)-(IV)
(2) (A1), (B)-(IV), {O-(D), (D)-()
(3)  (A)IV), (B)-(IID), (O-(ID), (D)-(I)
(4) (M), B)-(0). (O1V), (D)-(IM)

Options :

212807130061. 1
212807130062. 2
212807130063. 3
212807130064. 4

Question Number : 987 Question Id : 21280732517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The National Front which formed Government in 1989 was supported by two diameftrically opposite
political groups :

(1) BJP and Jan Sangh

(2) BJP and the Left Front

(3) Left Front and the Congress Party

(4) Left Front and Jan Sangh

Options :

212807130065. 1
212807130066. 2
212807130067. 3
212807130068. 4

Question Number : 987 Question Id : 21280732517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Frerfafaa § 5 @ gl we § s ol oriifos a8 & 1989 § wedta wiaf ween & Fofo @ goel
fepar e ?

(1) &3 d of ww w

(20 & 9, b, o ey it

(3) o Hrat ofi iy et

(4) e e S S Qcollegedunias



Options :

212807130065. 1
212807130066. 2
212807130067. 3
212807130068. 4

Question Number : 988 Question Id : 21280732518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The term “Bahujan’ refers to:
(1) ST and SC
(2) SC, OBC anf ST
(3) SC, ST, OBC and minorities
(4) OBC and minorities
Options :
212807130069. 1
212807130070. 2

212807130071. 3
212807130072. 4

Question Number : 988 Question Id : 21280732518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘g’ ug et defa s &2
(1) wE & ik ww, ol

@ T, & s A,

(3) wE ., A, o W W o orey derm o

(4) sit. &t Wi sik syeudmrs i

Options :

212807130069. 1
212807130070. 2
212807130071. 3
212807130072. 4

Question Number : 989 Question Id : 21280732519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The term “delimitation” refers to:

(1) limiting the powers of the government

(2) limits powers to the public

(3) drawing the boundaries of the electoral constituencies

(4) drawing the electoral roll

Options :
212807130073. 1
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212807130074. 2
212807130075. 3
212807130076. 4

Question Number : 989 Question Id : 21280732519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

“afedim’ vy Tt Heffa wwan @2
(1) ¥R & afeat s difyd e
(2) ST Y vy wifr
(3) Trate = w6t drand @liam
(4)  HRT G S

Options :

212807130073. 1

212807130074. 2

212807130075. 3
212807130076. 4

Question Number : 990 Question Id : 21280732520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which schedule of the Indian Constitution allows different tribes complete autonomy of preserving
their policies and customary laws ?
(1)  First Schedule
(2) Fourth Schedule
(3) Sixth Schedule
(4) Ninth Schedule
Options :
212807130077. 1
212807130078. 2

212807130079. 3
212807130080. 4

Question Number : 990 Question Id : 21280732520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

YRS WA w1 HE-dt g frs s it stoet wenedf o werma Tafirdl () o deamm w1 ol
TR Y 2
(1) v Sy
(2) =g sy
(3) & Sy
(4) o ey
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Options :

212807130077. 1
212807130078. 2
212807130079. 3
212807130080. 4

Question Number : 991 Question Id : 21280732521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - I List - II
Political Leaders Country
(A) Josip Broz Tito () Egypt
(B) Gamel Abdul Nasser () Yugoslavia
(O) Sukarno () Ghana

(D) Kwane N Krumah

Choose the correct answer from the options given below :

{IV) Indonesia

(1) (AL, B0, (OHIV), (D))
(2) (AN, (B)-(0), (O)H(IID), (D)-(IV)
(3)  (AIV), (B)-(D), (O)H(ID), (D))
(4) (A1), (B)-(ID), O)-(D), (DHIV)

Options :

212807130081. 1
212807130082. 2
212807130083. 3
212807130084. 4

Question Number : 991 Question Id : 21280732521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

.
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o1 & -1 %1 fgerrq it
'{:13"]‘.1 11

TR T G4l
(A) EE S A (n fu=
(B) et fsge MR () gt
(€ gt (1) =
(D) o THEH (1vy g8ty

i feu 7o famedi § 4 98 9 999 wifen
(1) (A, (B)-(D), (O-(1V), (D)-(1IT)
(2) (A, B)-(0), (O-11D), (D)-(IV)
(3)  (A)IV), (B)«(D), (O~1D), (D)-(1IN)
(4) (A)(D, (B)-(1I), (O)-(D, (D)-(IV)

Options :

212807130081. 1
212807130082. 2
212807130083. 3
212807130084. 4

Question Number : 992 Question Id : 21280732522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Given below are two statements :

Statement (I) : The cold war was an intense form of rivalry between great powers but both sides
had the capacity to retaliate against any attack and cause so much of destruction
that neither could afford to initiate war

Statement (II) : The two superpowers and the countries in the rival block were expected to behave
as rational and responsible actors

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement (I) and Statement (II) are correct

(2) Both Statement (I) and Statement (II) are incorrect
(3) Statement (I) is correct but Statement (II) is incorrect
(4) Statement (I) is incorrect but Statement (II) is correct

Options :

212807130085. 1
212807130086. 2
212807130087. 3
212807130088. 4

Question Number : 992 Question Id : 21280732522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value

nia:
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IComprehension IMCQ |

<t e g ¥

HIA (1) - 9 48 oG wirrdl 3 e ftrgfgen = us e g, Afea S uall % ur Tl o Be %
yfererr s sreren oft oir fareafy s or? 6 S vl A @ 6 oft 4 sty 0w shfery et =&
& T o |

T (I1) : & wreifaat ol wivgd @0 o whinfera 29 & faderyel ol swardt wdisll (weed) ¥ wq
H S T FY e ) g off

FYUE FUF F onedrer 8, Fra fou wu fayswed] B & wEr ST 999 Hifsn

(1) w1 iR He 11 9w ¥

(2) w1 R FT 11 S ey §

(3) WA T T, TferT wAT 11 31T ¥

(4) HITI SHX §, AT FIT 1 HA §

Options :

212807130085. 1
212807130086. 2
212807130087. 3
212807130088. 4

Question Number : 993 Question Id : 21280732523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following order in sequence the regime period of Soviet and Russia.
(A) Joseph Stalin

(B) Leonid Brezhnev

(C) Nikita Khrushchev

(D) Boris Yeltsin

(E) Mikhail Gorbachev

Choose the correct answer from the options given below :

(1) (&), (B) (O, (D), (E)

(2) (B (O, (D) E), &)
(3) (A (O (B), E) (D)
(4) (B (A) ©) (D) (B)

Options :

212807130089. 1
212807130090. 2
212807130091. 3
212807130092. 4

Question Number : 993 Question Id : 21280732523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

nia:
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|C0mprehensi0n |MCQ
Frerfafiad =i S 9 oik w9 F wweT ) oraftrdl 3 ar wd sy ¥ erafigg #ifa )
(A) SisrE e

(B) Torifg derg

(C) THfwar gea

(D) arfy Tl

() T irafas

9 fou my ferpedi § O TR S9 1 S I
(1) (A), (B), (C), (D), (E)

(2)  (B) (O), (D), (E), (A)

(3) (A, (O, (B), {E), (D)

4) (E) (A), Q) (D), (B)

Options :

212807130089. 1
212807130090. 2
212807130091. 3
212807130092. 4

Question Number : 994 Question Id : 21280732524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Arrange the following in chronological order :
{A) Berlin blockade by soviet union
{B) Soviet intervention in Czechoslovakia
(C) Soviet intervention in Hungary
(D) Soviet intervention in Afghanistan
(E) Disintegration of the Soviet union
Choose the correct answer from the options given below :
(1) (A), (B), (D), (©), B)
(2) (A), (), (B), (D), (B)
(3) (), (B), (D) (E), (&)
(4) (D) (B), (A), ©), (B)
Options :
212807130093, 1
212807130094, 2

212807130095. 3
212807130096. 4

)
):

Question Number : 994 Question Id : 21280732524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Frefafiad =t wassarER safier Hify
(A) wifeaa da gre afdd =t e

(B) Hiferga ¥ gru Sererafra g gy
(C) Hrferaa u gre 8 | geds

(D) e dw gre e § geady

(B) e e o fasreq

A fow 1u Tormedi § & W g 1 o i
(1) (A), (B), (D), (©), (E)

(2)  (A) (©), (B) (D), (E)
(3)  (©), (B), (D), (E), (A)
(4) (D) (B), (A), ©) (B)

Options :

212807130093. 1
212807130094. 2
212807130095. 3
212807130096. 4

Question Number : 995 Question Id : 21280732525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Who won the US Presidential election in 1992 and in 1996 :
(1) William Jefferson (Bill) Clinton
(2) George HLW. Bush
(3) John F. Kennedy
(4) Barack Obama
Options :
212807130097. 1
212807130098. 2

212807130099. 3
212807130100. 4

Question Number : 995 Question Id : 21280732525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Frerfafad § & # 1992 3R 1996 § TR wegafy w8 w g § faorh @ 42
(1) Taform shaq (faa) faeteq

(2) oS UL g, g

(3) W uE FAG

(4) HUF

Options :

212807130097. 1 H
7130097 Qcollegedumas
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212807130098. 2
212807130099. 3
212807130100. 4

Question Number : 996 Question Id : 21280732526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one of the following statement related to Iraq invasion by US is incorrect ?

(1) The US lost over 3000 military personnel in the war

(2) The UN had given consent to invade Iraq

(3) More than forty other countries joined the US led “coalition of willing’

(4) The invasion was to prevent Iraq from developing weapons of mass destruction

Options :

212807130101. 1
212807130102. 2
212807130103. 3
212807130104. 4

Question Number : 996 Question Id : 21280732526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

Frefoafign d§ -1 FUF [ T STERET g6 % aR § a8 2

(1) srafRe ¥ 39 gg F srod 3000 A sifys S wfif o ond il

(2) HYH T A R WEHA & 9 F weHla & off

(3) o =refrg § sy Yw omfem & get wiet guge wei & asue’ § wfinfem g
(4) 9 THA H R W H SR F gl A Forefaa w6 | I wn

Options :

212807130101. 1
212807130102. 2
212807130103. 3
212807130104. 4

Question Number : 997 Question Id : 21280732527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

i

“The circle of twelve gold stars on
(1) Co-operation

(2) Solidarity and harmony

(3) Perfection

(4) Unity

Options :
212807130105. 1

212807130106. 2
212807130107. 3 Qcollegedunias

India’s largest Student Review Platform

“The European Union Flag refers to:



212807130108. 4

Question Number : 997 Question Id : 21280732527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

g g F e w0 ER T 12 Toadl 5 gn’ T Wefda w32
(1) |&dm
(2) weFSEd v dierd
(3) YUk
(4) TR
Options :
212807130105. 1
212807130106. 2

212807130107. 3
212807130108. 4

Question Number : 998 Question Id : 21280732528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ASEAN was established in 1967 by signing :
(1) Schengen Agreement

(2) Treaty of Maastricht

(3) Bangkok Declaration

{4) Bandung Conference

Options :

212807130109. 1
212807130110. 2
212807130111. 3
212807130112. 4

Question Number : 998 Question Id : 21280732528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

freffatiad § 4 frg o geier ¢ A (ASEAN) 1 1967 H a1 i 118 ?
(1) S gmshan

(2) wifigs dfy

(3) SRR e

(4) =i gl
Options :

212807130109. 1
212807130110. 2
212807130111. 3

212807130112. 4 ~ collegedunias
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Question Number : 999 Question Id : 21280732529 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The Government of India and Bangladesh had differences over sharing of river water of :
(1) Yamuna and Brahmaputra
(2) Ganga and Brahmaputra
(3) Ganga and Tungabhadra
(4) Ganga and Yamuna
Options :
212807130113 1
212807130114, 2

212807130115. 3
212807130116. 4

Question Number : 999 Question Id : 21280732529 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

R i siarRy w5 Wl % g fea afel & o 9 gen @ % 9 ¥ aade 47
(1) Ty S Ry

(2) i SR ey

(3) i SR g

(4 SR A
Options :

212807130113. 1
212807130114. 2
212807130115. 3
212807130116. 4

Question Number : 1000 Question Id : 21280732530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The first WSF meeting was organised in :
(1) Mumbai, 2004
(2) China, 2001
(3) Brazil, 2001
(4) Britain 2004
Options :
212807130117, 1
212807130118. 2

212807130119. 3
212807130120. 4
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Question Number : 1000 Question Id : 21280732530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

WSE &1 vud Hifdn srafeg 1 = |

(1) H&§ 2004
(2) = 2001

(3) wrsiiE 2001
(4) TsreF 2004
Options :

212807130117. 1
212807130118. 2
212807130119. 3
212807130120. 4

Question Number : 1001 Question Id : 21280732531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Expand LTTE :

(1) Liberty Tigers of Tamil Eilam

(2) Liberation Telugu of Tamil Eilam
(3) Liberation Tigers of Tamil Eilam
(4) Liberation Tigers of Telugu Eilam

Options :

212807130121. 1
212807130122. 2
212807130123.3
212807130124. 4

Question Number : 1001 Question Id : 21280732531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frg2 (LTTE ) 1 g0 A Fa1Ey ?
(1) Toad oy e afier §am
(2) Tersier depy o afirer oy
(3) To&wE evd offw afuer sow
(4) Tereier arerd sitw g o
SoTiA0L2L.
212807130122. 2

212807130123. 3
212807130124. 4
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Question Number : 1002 Question Id : 21280732532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
In which year was the UNICEF established ?
(1) 1945
(2) 1946
(3) 1947
(4) 1948
Options :

212807130125. 1
212807130126. 2
212807130127. 3
212807130128. 4

Question Number : 1002 Question Id : 21280732532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
Freafafaa 4 9 fra o § gFEE (UNICEF) 1 @191 1 75 ?
(1) 1945
(2) 1946
(3) 1947
(4) 1948

Options :

212807130125. 1
212807130126. 2
212807130127. 3
212807130128. 4

Question Number : 1003 Question Id : 21280732533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which one of the following is an incorrect option related to decisions making UN is more relevant
in the changing scenario at its 60th anniversary in 2005.

(1) Establishment of a Human Right Council

(2) Agreements to achieve Millennium Development Goals

(3) Creation of a Democracy fund

(4) An agreement to continue the Trusteeship council

Options :

212807130129. 1
212807130130. 2
212807130131. 3
212807130132. 4

Question Number : 1003 Question Id : 21280732533 Question Type : MCQ Option Shuffling : No Is Question Mandatory ; alculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 HP-
P W collegedunias
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

o 2005 § HYF U =1 60 Wiz W e ufgem 4 Frolaa 9 sud iy Wi a9 @ deifya
Freafefiag & & H-ar oa faseg §2

(1) e TR ufteg =) s

(2) weemed fyse wsd w wite o gngha

(3) AR T H YSH

(4) ey wrdfe (=nfea oftrg) sl vl g amsha

Options :

212807130129. 1
212807130130. 2
212807130131. 3
212807130132. 4

Question Number : 1004 Question Id : 21280732534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - 1L
List - 1 List - I
(Treaties) (Full Form)
(A) SALT (Iy  The Strategic Arms Reduction Treaty
(B) START (I) The Anti-Ballistic Missile Treaty
(C) ABM (Illy The Nuclear Non-Proliferation Treaty
(D) NPT (IV) The Strategic Arms Limitation Treaty

Choose the correct answer from the options given below :
(1) (A)-IV), (B)~(D), (O(ID), (D)-(11)
(2)  (AHD), (BRI, (O1V), (D)-(1I)
(3)  (A(ID, (B)-(IV), (O)-(II), (D)-(I)
(4)  (A)(IV), (B)(IID), (C)-(II), (D)~(I)
Options :
212807130133. 1
212807130134 2

212807130135. 3
212807130136. 4

Question Number : 1004 Question Id : 21280732534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

.
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-1 & G-I %1 fgerd i

TEi-1 TeAl-11
(A) ¥ (SALT) ()  |mfes oo e 9y (fg wefers s figam &9)
(B) &R (START) () Sefes yiae-faddf d@fu (3 ¢-Safes faara 8&)
(CQ) T i tq. (ABM) () GTHr] S8R Gy (gfEerr A1 dferere §91)
(D) A 9. & (NPT) (Iv) wmiieE wea it i (g gefoe smd fafiew &d)
i feu o Tamedi § 4 W@ T w1 gy Hifa
(1) (A)-IV), (B)-(D), (O-(ID, (D)-(II)
(2) (A1), (B}-(I), (O1V), (D)-(I)
(3)  (A)-ID, (B)-(IV), (O)-{II), (D)-(I)
(4)  (A)-(Iv), (B)-(I1D), {O)-(1), (D)-{I)

Options :

212807130133. 1
212807130134. 2
212807130135. 3
212807130136. 4

Question Number : 1005 Question Id : 21280732535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Disarmament requires all the states to give up :
(1) Violence
(2) Arms Control
(3) Weapons
(4) Internal War
Options :
212807130137. 1
212807130138. 2

212807130139.3
212807130140. 4

Question Number : 1005 Question Id : 21280732535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

=t % fan vt ol () gRr o0 Fig B svrevass 82
(m R

(2) e T
(3) sl
(4) S 43

Options :

212807130137. 1 H
Qcol legedunia
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212807130138. 2
212807130139. 3
212807130140. 4

Question Number : 1006 Question Id : 21280732536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - 1L
List - 1 List - IT
Year Agreement Signed
(A) 1959 (I)  Bruntland Report
(B) 1987 (I)  Montreal Protocol
(C) 1991 (IlT) Antarctic Treaty
(D) 1987 (IV) Antarctic Environment protocol

Choose the correct answer from the options given below :
(1) (AR, B)-(D), ([O-(IV), (D)-[)
(2) (A1), (B)(ILD), (O-(ID), (D)D)
(3) (A, (B)-(TD), (O, (D)-(IV)
(4) (A, (B)-(I), (O-(1V), (D)-(I)
Options :
212807130141. 1
212807130142. 2

212807130143.3
212807130144. 4

Question Number : 1006 Question Id : 21280732536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Heit-1 & FE-11 =61 figeird i
o1 gHt-11
EL| WU OX e o e

(A) 1959 () = far

(B) 1987 (I) wifgTer deter

Q) 1991 (Il1) sfersfes iy

(D) 1987 (Iv) sirsfers waietuia g

9 few e famedi § 4 9@ SO o 294 wifeu .
(1) (A, (B)-{LL), {O~(IV), (D)-(D)
(2)  (AIV), (B)-(LID, (O)~{1D), (D)-(h)
(3)  (A)-D), (B)-(UI), (O(1D), (D)~(IV)

(4)  (A)-ID, B}-(D, (O-IV), (D)-(O) gcollege dunia:



Options :

212807130141. 1
212807130142. 2
212807130143.3
212807130144. 4

Question Number : 1007 Question Id : 21280732537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List - I with List - IL

List - I List - IT

(A) UNEP (Iy  Brazil

(B) The club of Rome (I)  United Nations Environment Programme
(C) Rio de Janerio (ITly 1987

(D) Brundtland Report  (IV) A Global Think Tank

Choose the correct answer from the options given below :
(1)  (A)-IV), (B)-(ID, (O)-1), (D)-(I)
(2) (A1, (B)-(IV), (O)-(IID), (D)-()
(3) (A1), (B)}-(IV), (C)-(1D), (D)-(I0)
(4) (A, B)-(IV), [C)-(D), (D)-(11)

Options :

212807130145. 1
212807130146. 2
212807130147.3
212807130148. 4

Question Number : 1007 Question Id : 21280732537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

o1 & A1 %1 fgerr i
-1

(A) 4 @9 @ Wi

(B) &g offe A9 (i)

(Cy et T safeh (1) 1987

(D) =eds R (av) Afvgs fbw o

H9 fou o famedi § 4 98 9 1 294 Sifen
(1)  (A)-IV), (B)-(11D), (O)-(D), (D)~(II)
(2) (AL, (B)-(IV), (C)-(I), (D)-(I)
(3)  (AD), (B)-(IV), (O(1D), (D)-(1IT)
(4) (A, B)-(IV), (C)-(D), (D)-(1II)

Options :
212807130145. 1

Tell-11

HET W v e

.
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212807130146. 2
212807130147. 3
212807130148. 4

Question Number : 1008 Question Id : 21280732538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension MCQ

During the colonial period India became an:

(1)
(2)
(3)
(4)

Options :

Exporter of finished goods

Exporter of primary goods and raw materials and consumer of finished goods
Exporter of finished goods and inporter of primary goods and raw materials
Importer of primary goods and raw materials

212807130149. 1
212807130150. 2
212807130151. 3
212807130152. 4

Question Number : 1008 Question Id : 21280732538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

afrafrafiren wtel % S R 1 En A ?

(1)
(2)
(3)
(4)

Options :

TR gt =+t Fratas

yerfeyen aregedt iR et aet B Trafaes qen S avgedl ot sy
Jar aegell wt Frafaes ol wufaes segedl wd &4 v & sraEs
yieifter el of F qie 1 S

212807130149. 1
212807130150. 2
212807130151. 3
212807130152. 4

Question Number : 1009 Question Id : 21280732539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension MCQ

Where and in which year, at the WTO ministerial meeting there were widespread, protests alleging
unfair {rading practices by the economically powerful states

Q)
(2)
3)
(4)

Options :

1991, Hague
1697, Geneva
1999, Seattle
1996, Newyork

212807130153, 1
212807130154. 2 Qcollegeduniag
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212807130155. 3
212807130156. 4

Question Number : 1009 Question Id : 21280732539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el oI Frg oy § geey, 9. ol = Ol Wi 98% F oo w s fade-vewi o &, faed enfe wy
§ wipenedt vl (R9) W srfad SR A8 STaTF W Sy T T o ?

(1) 1991, &M

(2) 1997, fatan

(3) 1999, fquza

(4) 1996, =UrH

Options :

212807130153. 1
212807130154. 2
212807130155. 3
212807130156. 4

Question Number : 1010 Question Id : 21280732540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In which year the Atlantic charter was sighed by the US President ‘Frankin D.Rooseveld” and UK
prime minister Wilston Churchill ?

(1) August 1941

(2) January 1942

(3) December 1942

(4) April 1943

Options :

212807130157. 1
212807130158. 2
212807130159. 3
212807130160. 4

Question Number : 1010 Question Id : 21280732540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Trerfafigs 4 @ frg o § omifet wgufa Hhefaa &) &ace ot g, & & v ffeeq afda A
Feefifes | W ke ey 272

(1) 3FRA 1941

(2) S 1942

(3) fews 1942

(4) et 1943

Options :

212807130157. 1
212807130158. 2
212807130159. 3
212807130160. 4

Sub-Section Number : 2
Sub-Section Id : 2128072545
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 1011 Question Id : 21280732541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

Read the following passage carefully and answer the question that follow :

The Cold War threatened to divide the world into two allinces. Under these citcumstances,
many of the newly independent countries, after gaining their independence from the colonial
powers such as Britain and France, were worried that they would lose their freedom as soon as
they gained formal independence. Cracks and splits within the western and eastern allinces were
quick to appear headed by the USA and the USSR respectively. Communist China quarreled with
the USSR towards the late 19530s, and, in 1969, they fought a brief war over a territorial dispute.

Which country had a brief war with the USSR for territory ?

(1) China

(2) Japan

(3) USA

(4) North Korea
Options :

212807130161. 1
212807130162. 2
212807130163. 3
212807130164. 4

Question Number : 1011 Question Id : 21280732541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Freafataa s+t samgEs ufeu R i fou e wee a1 sae e

sife g 3 g A & wasydl A Rafe w3 waslt & o offerfedl 8, it olowia S fufdfas
wifsel & o1l e wH W % 9, wE U W 20 39 9§ Tufva 3 6 foenfr wadwm ww w@ @
§ o7t wEdwar & S | ufverdt oik e ey % s T oi fawsm wvw: dya v e ol
YUHTHHR F Aged d wE &7 o aeward] <9 1 1950 % €9 % 37 H JUHTESR g e e
3iv 1969 9, 3w i oo wx v wiie g5 we

e To 1 93 % Torw USSR % oy wifam g gsn o ?

(1) AR

(2) S

(3

(4) s HTem
Options :

212807130161. 1
212807130162. 2
212807130163. 3
212807130164. 4

Question Number : 1012 Question Id : 21280732542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Read the following passage carefully and answer the question that follow :

The Cold War threatened to divide the world into two allinces. Under these circumstances,
many of the newly independent countries, after gaining their independence from the colonial
powers such as Britain and France, were worried that they would lose their freedom as soon as
they gained formal independence. Cracks and splits within the western and eastern allinces were
quick to appear headed by the USA and the USSR respectively. Communist China quarreled with
the USSR towards the late 1950s, and, in 1969, they fought a brief war over a territorial dispute.

Which former superpower headed the eastern alliances ?

(1) UK

(2) Greece

(3) USA

(4) USSR
Options :

212807130165. 1
212807130166. 2
212807130167. 3
212807130168. 4

Question Number : 1012 Question Id : 21280732542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Freafataa s+t samgEs ufeu R i fou e wee a1 sae e

sif g A g A & wasydl d Rafe @ 9wl & offerfedl 8, it slowia S fufdfas
wifsel & s1olt e wH w9, wE U WA 20 39 9 A Tofva 2 e fonfr wadwm ww %@ @
§ o7t wEdwan & S | ufverdt of e weey ¥ v g o fawism wvw: dysa v e ik
YUTHHR ¥ Aged § wE &7 o aemard] <9 7 1950 F €9 3 37 H JUHugsR g s e
3it 1969 B, 3w i frare vt us wiie g5 e

o gd werarfae A ga weeyE w5 Age R ?
(1) 4%

(2) T

(3) SRR

(4) difemd §g

212807130165. 1
212807130166. 2
212807130167. 3
212807130168. 4

Question Number : 1013 Question Id : 21280732543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Read the following passage carefully and answer the question that follow :

The Cold War threatened to divide the world into two allinces. Under these circumstances,
many of the newly independent countries, after gaining their independence from the colonial
powers such as Britain and France, were worried that they would lose their freedom as soon as
they gained formal independence. Cracks and splits within the western and eastern allinces were
quick to appear headed by the USA and the USSR respectively. Communist China quarreled with
the USSR towards the late 1950s, and, in 1969, they fought a brief war over a territorial dispute.

Which event of the world has threatened to divide the world into two alliances ?
(1) Arenas
(2) Cold War
(3) Iraq invasion
(4) Cuban Missile Crisis
Options :
212807130169. 1
212807130170. 2

212807130171. 3
212807130172. 4

Question Number : 1013 Question Id : 21280732543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Freafataa s+t samgEs ufeu R i fou e wee a1 sae e

sif g A g A & wasydl d Rafe @ 9wl & offerfedl 8, it slowia S fufdfas
wifsel & s1olt e wH w9, wE U WA 20 39 9 A Tofva 2 e fonfr wadwm ww %@ @
§ o7t wEdwan & S | ufverdt of e weey ¥ v g o fawism wvw: dysa v e ik
YUTHHR ¥ Aged § wE &7 o aemard] <9 7 1950 F €9 3 37 H JUHugsR g s e
3it 1969 B, 3w i frare vt us wiie g5 e

fava =1 frg o 3 fava 9 & wadud § Rofeg w0 9 e D §2
(1) W

(2) ¥id g

(3) IUH IHHW

(4) oy foud ey

Options :

212807130169. 1
212807130170. 2
212807130171. 3
212807130172. 4

Question Number : 1014 Question Id : 21280732544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

Read the following passage carefully and answer the question that follow :

The Cold War threatened to divide the world into two allinces. Under these circumstances,
many of the newly independent countries, after gaining their independence from the colonial
powers such as Britain and France, were worried that they would lose their freedom as soon as
they gained formal independence. Cracks and splits within the western and eastern allinces were
quick to appear headed by the USA and the USSR respectively. Communist China quarreled with
the USSR towards the late 1950s, and, in 1969, they fought a brief war over a territorial dispute.

Name the two countries that had ruled over the third world countries
(1) Britain and France
(2) Australia and Russia
(3) Russia and the USA
{4) Poland and Belgium
Options :
212807130173. 1
212807130174 2

212807130175. 3
212807130176. 4

Question Number : 1014 Question Id : 21280732544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Freafataa s+t samgEs ufeu R i fou e wee a1 sae e

sif g A g A & wasydl d Rafe @ 9wl & offerfedl 8, it slowia S fufdfas
wifsedl @ St Tarea W S F W, w0 EET 39 30 9 § g & fF sftoenfes wd @ ym | &
§ o7t wEdwan & S | ufverdt of e weey ¥ v g o fawism wvw: dysa v e ik
JUUEHR F g § fead 89 o) | orewerd < ¥ 1950 & guim ¥ ofa O Juunysr S e e e
3it 1969 ), 3w i forare vt v wiie g5 we

37 gl % e Ferflae FadiA e gfran & 9w sma faem

(1) foea sl wiw

(2) s oiv &g

(3) &g 3 sml=

(4) Trete o S
Options :

212807130173. 1
212807130174. 2
212807130175.3
212807130176. 4

Question Number : 1015 Question Id : 21280732545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

Read the following passage carefully and answer the question that follow :

The Cold War threatened to divide the world into two allinces. Under these circumstances,
many of the newly independent countries, after gaining their independence from the colonial
powers such as Britain and France, were worried that they would lose their freedom as soon as
they gained formal independence. Cracks and splits within the western and eastern allinces were
quick to appear headed by the USA and the USSR respectively. Communist China quarreled with
the USSR towards the late 1930s, and, in 1969, they fought a brief war over a territorial dispute.

The Cold War threatened to divide the world into  allinces
(1) 4

(2) 6

(3) 2

4) 7
Options :

212807130177. 1
212807130178. 2
212807130179. 3
212807130180. 4

Question Number : 1015 Question Id : 21280732545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Freafataa s+t samgEs ufeu R i fou e wee a1 sae e

sif g A g A & wasydl d Rafe @ 9wl & offerfedl 8, it slowia S fufdfas
wifsedl @ St Tarea W S F W, w0 EET 39 30 9 § g & fF sftoenfes wd @ ym | &
§ o7t wEdwan & S | ufverdt of e weey ¥ v g o fawism wvw: dysa v e ik
JUUEHR F g § fead 89 o) | orewerd < ¥ 1950 & guim ¥ ofa O Juunysr S e e e
3it 1969 ), 3w i forare vt v wiie g5 we

wird I 7 g = ey H faafve G = g @
1) 4

(2) 6

3 2

4 7
Options :

212807130177. 1
212807130178. 2
212807130179. 3
212807130180. 4

Sub-Section Number : 3
Sub-Section Id : 2128072546
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 1016 Question Id : 21280732546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Read the paragrah given below and answer, the following question :

As in the USSR, the planning commission of India opted for Five Year Plans (FYP). The idea
is very simple the government of India prepares a document that has a plan for all its income and
expenditure for the next five years. Accordingly the budget of the central and all the state
governments is divided into two parts ‘non-plan” budget that is spent on routine items on a yearly
basis and “plan” budget that is spent on a five year basis as per the priorities fixed by the plan. A
five year plan has the advantage of permitting the government to focus on the larger picture and
make long term intervention in the economy.

The Planning Commission has been replaced by :
(1) NITI Aayog

(2) CvC
(3) CWC
(4) CIC

Options :

212807130181. 1
212807130182. 2
212807130183. 3
212807130184. 4

Question Number : 1016 Question Id : 21280732546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details : Qcollegedl'lr]iag
India’s largest Student Review Platform



Key Value
Comprehension Comp?2

Frataftaa s #it aeurgEs ug i 3uF ag feu v ue o1 s it

St g, o ww R § 8, Wity e o A deerdty demed (ww @ d) @ 9w e
Seufrsh T o I YRR U 39 XS @) dar et § Rmd omé ufe ol ¥ forg st wed e
3R s ) ST URgE w1 S B 1 TET, g ol W Wl & ase @ well § fanfse e s &
e sste, Parger arfte s w e wegedl vt s T st § ol Cditsr sore, Torgant dsin gr
ey weftesarstl % srpar deerdfa st o s o s § 1 derendy et wt e g § Fo gud iR
Feal & A w0 Hfgd w wdt § ik sreferan o St www W wEd T

S s & sy gro ufeeafud frm T 22

(1) Hfa swde

(2) .9

(3) . gy H.

(4) . e W,
Options :

212807130181. 1
212807130182. 2
212807130183. 3
212807130184. 4

Question Number : 1017 Question Id : 21280732547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Read the paragrah given below and answer, the following question :

As in the USSR, the planning commission of India opted for Five Year Plans (FYP). The idea
is very simple the government of India prepares a document that has a plan for all its income and
expenditure for the next five years. Accordingly the budget of the central and all the state
governments is divided into two parts ‘non-plan’ budget that is spent on routine items on a yearly
basis and “plan” budget that is spent on a five year basis as per the priorities fixed by the plan. A
five year plan has the advantage of permitting the government to focus on the larger picture and
make long term intervention in the economy.

‘PLAN BUDGET is spenton a:
(1) Yearly basis
(2) Five year basis
(3) Three year basis
(4) Two year basis
Options :
212807130185 1
212807130186. 2

212807130187. 3
212807130188. 4

Question Number : 1017 Question Id : 21280732547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1 COI Ieged un ia
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Question Key Details :

Key Value
Comprehension Comp2

Frataftea s # rErgEs ug 3 39 ag feu v wes =1 s difv)

Stoifts 3, v . o A B, Wi A oy 3 deedfy demned (v, ard, @) & g e e
s T o I YRR U 39 SIS ot dar et § Ramd omét ofe ol % o s wee e
3l s Y ST wEgd B S B 1 TETE, g ol W Wl & aue @ weil F fawnfse feran st @
e st Pt arfife snum W e aegsdl W T st § i i sre, Fergent disn g
Freffen wefqenarstl & srar deendfa snemt w sr fovar s ¥ 1 derendfar rern st ey 9g § fr vwd weEr
e €9 @ wr Hfgd woad § siv sreforavan ¥ Sedentferes vaer wCawd ¥

“Hrerr-sere Rk St W ey farar S 2
(1) i s W

(2) e STYR W

(3) T aHiT SR W

(4) Tgadta sy o

Options :

212807130185. 1
212807130186. 2
212807130187. 3
212807130188. 4

Question Number : 1018 Question Id : 21280732548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Read the paragrah given below and answer, the following question :

As in the USSR, the planning commission of India opted for Five Year Plans (FYP). The idea
is very simple the government of India prepares a document that has a plan for all its income and
expenditure for the next five years. Accordingly the budget of the central and all the state
governments is divided into two parts ‘non-plan’ budget that is spent on routine items on a yearly
basis and ‘plan’ budget that is spent on a five year basis as per the priorities fixed by the plan. A
five year plan has the advantage of permitting the government to focus on the larger picture and
make long term intervention in the economy.

The document of Five year plan is prepared by :
(1) Parliament
(2) Rajya Sabha
(3) Government of India
(4) Lok Sabha
Options :
212807130189. 1
212807130190. 2

212807130191. 3
212807130192. 4

Question Number : 1018 Question Id : 21280732548 Question Type : MCQ Option Shuffling : No Is Question Mandatory Iculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 COI Ieged un ia
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Freatafaa s S AErgEs ug i 36 a1g feu U wee &1 SR i |
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(1) 94g

(2) I G

(3) YIRA TR

(4) ErEES
Options :

212807130189. 1
212807130190. 2
212807130191. 3
212807130192. 4

Question Number : 1019 Question Id : 21280732549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Read the paragrah given below and answer, the following question :

As in the USSR, the planning commission of India opted for Five Year Plans (FYP). The idea
is very simple the government of India prepares a document that has a plan for all its income and
expenditure for the next five years. Accordingly the budget of the central and all the state
governments is divided into two parts ‘non-plan’ budget that is spent on routine items on a yearly
basis and ‘plan’ budget that is spent on a five year basis as per the priorities fixed by the plan. A
five year plan has the advantage of permitting the government to focus on the larger picture and
make long term intervention in the economy.

‘Non-Plan” budget is the budget which is :
(1) Planned but not spent
(2) Planned but should not be spent
(3) Spent on a yearly basis
(4) Spent only in the first year
Options :
212807130193, 1
212807130194. 2

212807130195. 3
212807130196. 4
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Question Number : 1019 Question Id : 21280732549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2

Frataftea s # rErgEs ug 3 39 ag feu v wes =1 s difv)

Stoifts 3, v . o A B, Wi A oy 3 deedfy demned (v, ard, @) & g e e
s T o I YRR U 39 SIS ot dar et § Ramd omét ofe ol % o s wee e
3l s Y ST wEgd B S B 1 TETE, g ol W Wl & aue @ weil F fawnfse feran st @
e st Pt arfife snum W e aegsdl W T st § i i sre, Fergent disn g
Freffen wefqenarstl & srar deendfa snemt w sr fovar s ¥ 1 derendfar rern st ey 9g § fr vwd weEr
e €9 @ wr Hfgd woad § siv sreforavan ¥ Sedentferes vaer wCawd ¥

‘o wste S e 32

(1) Treifa, SR el T o &
(2) Preifaa, dfe e v e e afe
(3) it ameR B T = §

(4) Fea ver oy § o T o §

Options :

212807130193. 1
212807130194. 2
212807130195. 3
212807130196. 4

Question Number : 1020 Question Id : 21280732550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Read the paragrah given below and answer, the following question :

As in the USSR, the planning commission of India opted for Five Year Plans (FYP). The idea
is very simple the government of India prepares a document that has a plan for all its income and
expenditure for the next five years. Accordingly the budget of the central and all the state
governments is divided into two parts ‘non-plan’ budget that is spent on routine items on a yearly
basis and “plan’ budget that is spent on a five year basis as per the priorities fixed by the plan. A
five year plan has the advantage of permitting the government to focus on the larger picture and
make long term intervention in the economy.

The idea of Planning commission and five year plan was adopted from :

(1) Japan

(2) USSR

(3) Germany

(4) France
Options :

212807130197. 1
212807130198. 2

212807130199. 3
212807130200. 4 H
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Question Number : 1020 Question Id : 21280732550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Freatafiea s *r AEaTgEs ug ik 35 ae feu v wee &1 S it

Sroifr 3, v w, o H § et A ey A deredfy demned (v, ard d) # g v e
3Tk T o I YRR U 39 <SS @t dur et § R ordt ofe el % forg s wea e
i = Y WS Uy Y SR § 1 TRTEy, R IR W el & aere W @ el o fenfem feren s &
“Te—drern wste, P arfife sum W e aegedl wosr T st § ik i sere, Fergent s g
Freffen mefqeraredl & srar deenffa snemt w sp fovar s ¥ 1 derendfa e st oy uw § Fr 3ud weEr
FEI €Y o1 Hfgd w o § oiv sreforgen ¥ Sedentfire vee g ¥

Fra ST it deedy e st faar few 2w @ e

(1) <mE
(2) Y T T R
(3) wH
(4) Wy

Options :

212807130197. 1
212807130198. 2
212807130199. 3
212807130200. 4
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